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General Instructions :

1. The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

2. All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.

4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

5. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

7. Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.
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HIT-31 / SECTION-A

1 30 ®AfEe &l TeH SIS f5gd germen Gau0 & fau sregges guish e ¥

Identify the plastid which contains a pigment necessary for photosynthesis.

2 fopg feerf & foreema <1 9RO =g 510 F i T g4 o HHM BT 2

Under what condition will the magnitude of displacement be equal to the distance travelled
by an object ?

3 TR o HATsh aH 1 Teh Ao folfad |

Give one importance of the universal law of gravitation.

A %l wel 3l & faeon i <X H R ied gorl it |

Compare the rate of diffusion of liquids and solids with reason.

5 3 ot aRariem  faemm Ui S o1 71 fafaw | 51 wifsemetl &1 ermfa st dt 82

Name the muscular tissue which is present in the iris of the eye. What is the shape of these
cells ?

6 =1 & fore sRor fafa
() | HRI H Hie-doe Suers Bt 7
(i) =T o9 § FEA WA B ¥ |
State reason for the following :

(i) All cars are provided with seat belts.

(if) It is dangerous to jump out of a moving bus.
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(b) a9 FI 97 HeRRe o | fRAl T W HW F q9EE T A T 3= St 2
©  (b)¥r H 3@ 9 % < o fafed
You are provided with a mixture of Iron filings and sulphur. Answer the
following questions.

(@) Which technique can be used to separate the components of mixture ?

(b) Name the gas which is produced when the mixture is treated with dilute sulphuric
acid at room temperature ?

() Write two properties of gas evolved in part (b).

8 e Tharheld gRT 9% TeIisT foh 119 29 qen 31 &t gor | s stam 9 duiifed 1 ot €1

With the help of an activity show that gases are more easily compressible than liquids and

solids.

9 fefer o @1g =R 707 fafaw | $9eh < 3QTeL0T It |

List any four properties of a suspension. Give two examples.

10 ERICINEI R Ret= e il

() IR foeel o1 A= |

(i) IRt THfT St wSRAT|

(iii) ~ RITTeRT el ht SoTcHeh QAT |

In a cell what are the advantages of the following ?

(1) Flexibility of cell membrane.
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(if) Rigidity of cell wall.

(iif)  Selective permeability of cell membrane.

11 AT & STeEEl o AW fafae | sTH ¥ S wiftene e 2t 82 diei § warem w®n yfer 3
fqamn &2
Name the constituents of phloem? Which of these are non living cells? What role does
phloem play in plants ?

12 AT H&TUT ] HHEAH o o0 Tk fsramrary k1 for1 wfsd =ofq shifsie | 3
Describe an activity with diagram to explain conservation of momentum.

13 forelt ofiee 3 =1et § R TEd gu o 9 T TR Tl 4.0 Hohe IR ek hI AT 182 3
4.0 Yohe IYETd e T faems feran €2
A tourist drops a rock from rest from a ground rail overlooking a valley. What is the velocity of the rock
offer 4.0 sec? What is the displacement of the rock aften 4.0 sec?

14 ek ViSAel HIeX HEfohet fatmmeeen ¥ %haet 4 s § 28 m/s i & 9 TfRa &l © ¢ 3

@) 39 3iEd ©RU T ?
(b)  3a7 wHA ¥ 98 fordt g 0 a2
A powerful motorcycle can accelerate from rest to 28 m/s in only 4 s.

(@) What is its average acceleration ?

(b) How far does it travel in that time ?

15 T Hesh O W@ 99 W10 s H foag /A’ 9B’ I Foahdl © 39 o 98 e 5 s H fag'C’ a% 3
Taehdl © | Hedh i STd <1t qe ST 39 1 Iiehar
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A frog hops along as straight line path from point ‘A’ to point ‘B’ in 10 s and then turns and
hops to point ‘C’ in another 5 s. Calculate the average speed and average velocity of the frog
for the motion between :

4R 4
Y N
—t—t—t—
-7-6-5-4-3-2-10 1 2 3 4 5 6 7
B Meters c A
(@) (A) to (B) (b) (A) to (C) (through B)
16 1 o foa &R fafa 3

(i) gd Ot 9T ¥ <erdl g8 Miedl ¥ B Jell TS gHeAd HiHl 9t | ot g8 miedl ¥ B
et EfeTa T 3TN a5 AfHeh agar Bt & |

(i) 9 U I8 =6 G et g2 HR T dd 1S W GSdl € a1 A T SR Rl ek o ¢ |
(i) Tk FoIdl 9 STo TR Beh Sl © 1 9 3R @i 3R fikd €1

State reason for the following :

(i) Road accidents at high speeds are very much worse than accidents at low speeds.

(ii) When a motor car makes a sharp turn at a high speed, passengers get thrown to one side.

(iii) The passengers in a bus tend to fall in the forward direction when a moving bus brakes to a
stop.

17 F0 F USR] B ik YR W IR a1 719 & Tk que of | 9=, it fom gigdi o1 i 3
T ST T, < e STl <l Gea fed foF o Fearpe U Y aifh 39 quen 9 e W1 91 S8
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U1 Ggd O T 81 Fagpel Hi Fw facelt Tl Ul e e SR "G #1 S 9g |
ST G fuig = Tie Al S Hferd STER YSH A | T & |

()  FFH U & o A fafed |
(i) PR I T <O IR TH ol 7% 1 W fafed |
(it) =Y % G SV T T Heo fafam |

Proper disposal of agricultural byproducts was a problem in the village. Santosh who had
come to his ancestral village during vacation advised the villagers to set up a poultry farm to
overcome this problem. They accepted his advice and introduced certain exotic breeds to
increase the number and quality of eggs and meat. Their combined decision helped in
providing a balanced diet to all the villagers.

(i) Mention any two advantages of adopting poultry farming.
(if) Write name of one indigenous and one exotic breed of poultry.

(iii)  Mention two values shown by Santosh.

18 (@)  Fadd wsfadl % < 3ee fafe |
(b) =R A e el wEt Aol & T fafaw )

(@) Give two examples of shell fishes.

(b) Mention the names of four marine fish of high economic value.

19 1 & oTaR R fHofem a9 wiaRea faee | o S :
(@)  TH= =1 gehR
(b)  HUI I SRR
(©)  WeRTI I Yentor (Thar)
(d) e

IR fae ™ de SicEed fae™T Ycieh sl Ueh 3eelul SIfely
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Compare a true solution and a colloidal solution on the basis of :
(@) type of mixture

(b) particle size

(o) scattering of light

(d) stability

Give one example each of true solution and colloidal solution.

20 forelt oere I St gure 1 qrdE Sk T <9 W ©

I 73l E
AIHH D
K
® ol C
B
A

I H 3fg ——
frfated g & s fafe
(a) B AMD usred &t fohw fifien sterwen # €7
(b)  ToRHT URTe % TR Sl ARG it |
(c) & W ATYHH o THIE i SREAT hiTST |
(d) TRl usTe % e S AR it |
() = forg A W e T e A% & Wk § 7

Effect of heating a substance is illustrated in a heating curve as shown below :
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Temperature D

S 273 |- - - <

Heat added ——
Answer the following questions :
(@) In which physical state of the substance exist at B and D.
(b) Define the melting point of a substance.
() Explain the effect of temperature on ice.
(d) Define the boiling point of a substance.

(e) Can the given substance be ice at point A ?

21 FI1 AR IR T Gt HIVTHRIT ATHTT, STHR 9T T & Ged H U 99 2Bl €7 38 |1 5
TG Bt § 2 AHd IR H faemm fafis sifeemet & smal gr yefiia swifs )

Do all cells of our body look alike in terms of shape, size and structure? What similarities do
they have? Illustrate by drawing diagrams of various cells present in human body.

22 IO S >
@) T RO Y H A g7
(b) Y W g’ 1 UM frer T T

)  fafvs goaami &t aeqd weh Fad ek 9 A o aRer 999 ot §

d) ‘G I gl feeris wad €| 59! SI g fafay |
Give reason :

(@) What is meant by acceleration due to gravity ?
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(b) Value of ‘g’ is not constant on earth.
(c) Objects with different masses take same time to fall from a fixed height.

(d) ‘G’ is known as gravitational constant. Write its SI units.

23 =2 6t Tk gem I w1 Se SIS | gise fm =ed s afa 1 gem fem, =ged & fdm 5
frem 1 g fearfd 81 800 kg T29WM i SR 1 @R I HIT A 39 T 200 N &I 5t TR
B B |

State Newton's first law of motion. Show that Newton’s first law of motion is a special case of
Newton’s second law. Determine the acceleration of a car of mass 800 kg, on application of a

force of 200 N on it.
24 (a) TIIGER ot AR fafe ) w31 S fafau >
(b)  H A Yt F WIUTER! H1 e A TEavE 7 ?
(c)  TYAAR AT 37 B & 7
(@) Define weed. Give two examples.
(b) Why is it essential to remove weeds from agricultural fields ?
(c) What are weedicides ?
HIT-«/ SECTION - B
25 Tieft gt W 9 S STl & S © 1
(a)  HHg TR (b)  TIE W AEST
(c)  dien U (d) A Tl

Main adulterant found in yellow dal is :
(@) White stone (b) Dung powder

(o) Yellow powder (d) Metanil yellow

26 T o @ H AN faerad et 91 W a8 ol #1et 31 # uikafda =& gan| 3od g frsed freperar 1
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On adding iodine solution in cane sugar juice, it did not turn to blue black colour. It will be
inferred that, in cane sugar juice :

(@) proteins are absent (b) sugar is absent

(c) starch is absent (d) fats are absent

27 = few e fes ® X7 g0t a9 St 1 g9 ® 991y’ U 3 € WX T T e R W 1
a1 T 3R 30 RN UseR iy foun S 1 Yaor w wE g R

e
20 2

(iii) (iv)

@ 1 (b) I © m @ v

In the diagrams given below ‘X’ is a mixture of iron filings and sulphur and ‘Y’ is the product
obtained by heating the mixture ‘X’ and crushing it to a fine powder. The correct set of
observation is :
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28 g 9ol 3T o URel & a0 & S T Tk Hl a9gd fohe ¥ TR o) 9 R 7= § 4 w&t 1
TeI0T BT
@)  I=F WFRE YE T a1 |
(b) e 3ol g 9 fouek S g
() g ool 3R g gHi gk § faus S )
(d) T 95T AIS Y AIR HI KA HLET S |

A magnet is repeatedly moved closely over a mixture of iron filings and sulphur powder. The
correct observation from the following would be :

(@) no effect on magnet.

(b) iron filings stick to the magnet.

() iron with sulphur stick to the magnet.

(d) magnet attracts very little iron.

29 TR o7 § fSieh Sl W gResH 9 a1 e dethe faaed ura g ©1 a5 gethe &1 1

e
(a) Bl Hiem (b) BT Hiedl
(©  TERIET d TEF

On adding zinc to sulphuric acid, hydrogen gas and zinc sulphate solution is formed. The
colour of zinc sulphate solution formed is :
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(a)
©)

light blue (b) light yellow

light green (d) colourless

30 TS i foeell & STt SRy & fau frefafea § 4@ =F 9 92 <1 %9 9 8 ?

(a)
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(v)  HHHH S 9 e et

Which one of the following sets is the correct sequence for preparing a temporary mount of an
onion peel ?

(@) (1) take out the onion peel
(if) keep the peel on the slide
(iif)  add a drop of glycerine on it
(iv)  add a few drops of safranin stain
(v) cover it with a cover slip
(b) (i) take out the onion peel
(if) keep the peel in water in a petridish
(iii)  add a few drops of safranin stain and transfer to the slide
(iv)  add a drop of glycerine on it
(v) cover it with a cover slip
(c) (i) take out the onion peel
(if) keep it on a slide and add safranin stain
(iif)  transfer it to water in a pertridish
(iv)  remove water and add glycerine
(v) cover it with a cover slip
(d) (i) take out the onion peel
(if) cover it with a cover slip
(iii)  add water in a petridish to clean it
(iv)  add a drop of glycerine
(v) add a few drops of safranin stain

31 IR forenfefat 3 Yiemean e Afe foran o fre fesr o s T e vl 2
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Four students observed parenchyma tissue and drew following diagrams. Which one is
correct ?

(b)

32 wF fgu 4 eeifed, smHifem Fee 9 9 form 81 Shea seifed qon stifem R 1
S B €1 hadl TS HeA SZHRES | goreial €1 il e &1 319 fhd ghR
G2k Il 7 TN T ShH SR

(a) HEHUNH, FEACHAREE ST

(b) EA ITERINEE ST, M, e
(c) FEEUEH, STe1 eleH, e

(d) STSTRTT, TEeH, fsheeefierT

A mixture contains iodine, ammonium chloride and sand. Only iodine and ammonium
chloride sublimate. Only iodine dissolves in carbon tetra chloride. How will you separate
the three components ? Sequence of steps will be :

(@) Sublimation, addition of CClas.

(b) Addition of CCly, filtration, sublimation.
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(c) Sublimation, addition of H>O, filtration.

(d) evaporation, distillation, crystallization.

33 T B A, B 3R C T @hel % 2o & 9R IR &fast 9ag W 38 946 71fd # @1 & fag sarer. 1
TGN SAY® A9 9 o Hed Y TIUd et ol TR L @ 91 37k g SAE ¢
Elelicy He-319 = IREIRRIE
9

- LRV RS

: | |

B
O
] |
IR R TS 9IRoT
(@) T A

(b) A HIH TE EA
(c) B GeH T B
(€ C% qad Tdl 2 |
Three students A, B and C were performing the experiment to establish relation between

weight of a wooden block and minimum force required to just move it on a horizontal
surface. The experimental set up used by each is as shown in the figures given below.

- LD (RS

. | |

| R )
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The result obtained by them will be :
(@) same for each

(b) most accurate for A

() mostaccurate for B

(c) mostaccurate for C

34 fordl a1l 'x' Bl AR IHH A Sl THerrn w1 38 edtwifd faeiifed w & geend foeea w1 2
F® I9T & foTe TF & @ o o) 9eivr S W 9% a7 TR g9 o aelt B ded o €1 39
o1 & YR W A9 39 9o & aR § 7 frwd fven €2 afc 39 foaoem 9 &% vt 7
TSI ST, T 31 1T 2

A substance 'X' was taken and was added to distilled water. On stirring thoroughly the aqueous
solution was left to stand for sometime. It was observed that its particles began to settle at the
bottom. By this information what do you infer about the solution ? What would happen if a beam of
light is passed through this solution ?

35 S 1 FELHIS A h & FAT ° Ffafeg qEenf@= & siad & SR e hifag - 2
()  oHiHieT 1 god diR w1 AR | TRl @l g =AiEu

(i) ST S % IR A TER A 9H - A

In an experiment to determine the boiling point of water, state reason for the following
precautions:-

(1) The bulb of thermometer should not touch the sides of beaker.

(if) While boiling water, pumice stones should be added.

36 BEI o Tk J4 A Teruifell gRI Taentya Siat skl Yfaerd A1 9 i o 9 § = geqor e fea : 2
o forerfell s gemm =20 g
ST STERNTO T o oG fhsITHel ol S =3.0 g

fepaifirell g ter =t srasitoa Wi wen ifjdfyr dhft, A e o S=iA gofl 8¢ fersifasti w1 =i
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A group of students recorded the following readings while performing the experiment to
calculate the percentage of water absorbed by raisins. Mass of dry raisins =2.0 g

Mass of raisins after absorbing water = 3.0 g.
Calculate the percentage of water absorbed by raisins

Later on they placed swollen raisins in concentrated solution of sugar. What will be their
observation ?
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